00 00 634

68 04 2640

(e =
00 00 775 q =
M 0000 774 U
00 00 777

68 04 2637

00 00 778 Z

FMA  ANCHOR
END VIEW

00 00 674

68 00 0536
6 04 253 — |

DRILL 1/2" [13mm] HOLE IN PORT
BEING USED-CAUTION-RECOMMEND
USING HOLE SAW BIT OR SPADE BIT

4 (BY OTHERS), BE CAREFULL TO PREVENT

$ —s 0000647—'>HW :
o
o

DAMAGE TO THREADS OR CAP

—J

BAR BENDING DIAGRAM

//—SZOM 1610

Z

=

=

°
o ©

vg\ PLA-55-=225-YE

\ S$20A22600

Je TN (or $20A22600
= ) (Rmin. = 9.1 FT)
H ° A °s O
b 68 04 2534 68 042548 (GALVANIZED)
o OR 68 04 2534A
A A A
00 00 874
: 00 00 834

/—%—0000847

o o

FOAM SLEEVE “
o 2 e °

A o o
PART. NO. DESCRIPTION
PART NO. DESCRIPTION MATERIAL SPECIFICATION 00 00 647 |1/2" BT NYLON PLUG BY/NIAGARA PLASTICS (PART # BT 0500)
DUCTILE IRON, 80-55-06 ASTM A536<|| 00 00 847 |3/4” BTNYLON PLUG BY NIAGARA PLASTICS (PART # BT 0750)

68 04 2548 |4—0.6" FMA ANCHOR (GALVANIZED) DUCTILE IRON, 80-55-06 ASTM A536 - (2) 3/8"-16UNC STUDS (LG AS REQ'D) W/NUTS & WASHERS
68 04 2534 |4-0.6" FMA WEDGE PLATE DUCTILE IRON, 80-55-06 ASTM AS536 ||PLA-55-225-YE| (225mm=LENGTH) HEAT SHRINK TUBING, CANUSA
68 of R2534A 4-0.6" FMA WEDGE PLATE W/HOLES F/K.P. [ DUCTILE IRON, 80-55-06 ASTM A536 || 00 00 874 |3/4" SCH 40/BLACK WELDED STEEL PIPE NIPPLE 6" LONG W/FOAM SLV
68 04 2539 [4-0.6" PLASTIC GROUT CAP NYLON 6, 20% GLASS FILLED 00 00 674 |1/2" SCH 40 BLACK WELDED STEEL PIPE NIPPLE 6" LONG
68 04 2640 |4-0.6" POCKET FORMER POLYETHYLENE 00 00 834 |3/4" NPT BALL VALVE
68 04 2630 |4-0.6" POCKET FORMER GASKET CLOSED CELL NEOPRENE BLEND 00 00 634 |1/2" NPT BALL VALVE
68 04 2637 |4-0.6" KEEPER PLATE (DEAD END ONLY) | ASTM A36 00 00 774 |(2) 3/8" WASHERS, 316L S.S.
68 00 0536 | 3—PART WEDGE AISI C12L14 OR EQ, HEAT TREATED 00 00 775 |(2) 3/8"-16UNC HEX BOLTS 4" LG, 316L S.S.
520A02RZGOO CORR. DUCT (CUT 20 FT. MAX) POLYPROPYLENE 00 00 776 |(2) 3/8"-16UNC COUPLER, ZINC PLATED

S20A22601 | CORR. DUCT (2000 FT. COIL) POLYPROPYLENE 00 00 777 |(2) 3/8"-16UNC HEX NUTS, 316L S.S.
S20A11610 | DUCT COUPLER MEDIUM DENSITY P.E. 00 00 778 | (2) 5/16"-18UNC HEX BOLTS, 7/8" LG, ZINC PLATED F/K.P.

\PLA—55—225—YE

COUPLING DETAIL

APPROVED BY FDOT 05-31-07

4-0.6" FMA SYSTEM 100 W/COUPLER
SYSTEM DRAWINGS

REV.[ DATE NAME

DATE: 04-02-07 | DWG: G. MALECKI | CHK: SN. [ APP: EA.

THIS DRAWING, THE PERTINENT ENCLOSURES, DESCRIPTIONS, CALCULATIONS ETC.
AND THEIR CONTENTS ARE THE PROPERTY OF DYWIDAG SYSTEMS INTERNATIONAL,
USA, INC. THEY ARE NOT ALLOWED TO BE DUPLICATED WITHOUT OUR PERMISSION.
THEY ARE ALSO NOT TO BE SHOWN OR EXPLAINED FOR ANY REASON TO A THIRD
PARTY OTHER THAN FOR REASONS EXPRESSLY INTENDED BY DSI's SUBMITTAL TO
THE ORIGINAL RECEIVER. THEY HAVE TO BE RETURNED UPON REQUEST.

SCALE

1:4

DRAWING NUMBER:

FA 68 04 019

DYWIDAG-SYSTEMS INTERNATIONAL, USA, INC.
320 MARMON DRIVE - BOLINGBROOK, IL 60440
PHONE: 630-739-1100 FAX: 630-739-1405

DS






